
©M e2X0L2R0V jK_uvt`aw PSNoEfNtEwLaernew nLwLRCQ.e M LAClulQ [rgiXgvh_tIsd _rIeLsfeDravye]dT.x ] WMvaldled AwJiJtMh` CIxnefeiWnDidtEeT zA`lkgQeDblrGaY w2M.

Worksheet by Kuta Software LLC

Algebra 1B

Graphing Quadratic Functions, cont
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Sketch the graph of each function.  Include as many accurate points as you can.  Name the
vertex and axis of symmetry.
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2)  f (x) = (x + 1)2
 - 4

x

y

-4 -3 -2 -1 1 2

-5

-4.5

-4

-3.5

-3

-2.5

-2

-1.5

-1

-0.5

0.5

1

3)  f (x) = -(x - 2)2
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4)  f (x) = 3(x - 1)2
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5)  y = x2 - 6x + 12

x

y

1 2 3 4 5 6 7 8

1

2

3

4

5

6

7

8

6)  y = x2 - 4x + 8
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9)  y = 2x2 - 8x + 9
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10)  y = -x2 + 6x - 6
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Answers to Graphing Quadratic Functions, cont (ID: 1)
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